

# Oscillation criteria for second order nonlinear delay inequalities

**S. Nababan and E.S. Noussair**

Oscillation criteria are obtained for the nonlinear delay differential inequality  $u(u'' + f(t, u(t), u(g(t)))) \leq 0$ . The main theorems give sufficient conditions (and in some cases sufficient and necessary conditions) for all solutions  $u(t)$  to have arbitrary large zeros. Generalizations to more general cases are discussed.

## 1. Introduction

Oscillation criteria for the nonlinear delay differential equation

$$(1) \quad Lu = u'' + f(t, u(t), u(g(t))) = 0$$

and more generally for the inequality  $uLu \leq 0$ , will be derived. Suitable assumptions on  $f(t, u, v)$  will be listed in Section 2.

Hereafter, "solution" means "solution on a half-axis". A solution of  $uLu \leq 0$  is called oscillatory if it has no largest zero. For a general discussion of existence and uniqueness properties of equations with delays, the reader is referred to Eišgoļ'ts [3].

Oscillation theory for equation (1) has been developed by many authors. We mention in particular the papers by Erbe [4], Gollwitzer [5], Ladas [6], Lillo [7], Norkin [8], Staikos [9], Waltman [10], Wong [11], and the references therein.

---

Received 20 January 1976.

Our main results in §2 will extend known oscillation criteria to differential inequalities and sharpen the conclusion in certain cases. Our basic method will depend on the fact that, under appropriate conditions on  $f$ , nonoscillatory solutions of the inequality  $uLu \leq 0$  are positive solutions of a related differential inequality. We then use suitable Riccati's transformations to derive sufficient conditions for the related inequality to have no solution which eventually becomes positive at  $\infty$ . As is customary in this area, we give some strictly nonlinear results (Theorems 2 and 6) and some results which can be specialized to the linear case (Theorems 4 and 7). It will be clear that this technique extends to more general inequalities in which the function  $f$  involves several retardations.

## 2.

In this section we obtain oscillation criteria for the delay differential inequality

$$(2) \quad u(t)Lu(t) \leq 0, \quad t \geq 0,$$

with  $L$  as given in (1). The following assumptions on the function  $f$  and  $g$  will be retained in the sequel.

(3) ASSUMPTIONS. (a)  $f(t, u, v) \in C([0, \infty) \times R \times R)$ ,  $u$  and  $v > 0$  imply  $f(t, u, v)$  is positive and nondecreasing in  $u$  and  $v$  for all  $t \geq 0$ .

(b)  $f(t, u, v) \leq -f(t, -u, -v)$ ,  $u$  and  $v > 0$  and all  $t \geq 0$ ;

(c)  $g(t) \in C[0, \infty)$  with  $0 < g(t) \leq t$ ,  $t > 0$ ,  
 $\lim_{t \rightarrow \infty} g(t) = \infty$ .

LEMMA 1. *Inequality (2) is oscillatory in  $[0, \infty)$  if the delay differential inequality*

$$(4) \quad u''(t) + f(t, u(g(t)), u(g(t))) \leq 0$$

*has no solution  $u$  which is positive in  $[t_0, \infty)$  for  $t_0 > 0$  under the assumptions (3).*

*Proof.* Suppose to the contrary there exists a number  $t_1 > 0$  such

that  $u(t)$  is a positive solution of (2) in  $[t_1, \infty)$ . Choosing  $t_1$  sufficiently large if necessary, we can assume that  $u(g(t)) > 0$  for  $t \geq t_1$ . Since  $t \geq t_1$  implies that  $u''(t) \leq 0$ , a standard argument shows that  $u'(t) > 0$  for sufficiently large  $t$ , say  $t \geq t_0$ . Using Assumption (3) (a) on  $f$ , it is easy to see that  $u(t)$  is a positive solution of (4) in  $[t_0, \infty)$  contradicting the hypothesis. Likewise, there cannot exist  $t_0 > 0$  such that  $u$  is a negative solution of (2) in  $[t_2, \infty)$  or else Assumptions (3) (a) and (b) would imply that  $-u$  is a positive solution of (4).

Let  $\phi(u)$  be a continuously differentiable function of  $u$  for  $u \in [0, \infty)$  satisfying  $\phi(u) > 0$  if  $u > 0$ ,  $\phi'(u) \geq 0$  for all  $u \geq 0$ , and

$$\int_1^{\infty} \frac{du}{\phi(u)} < +\infty.$$

We will say that  $f(t, u, v)$  satisfies *condition (A)* provided there exists a  $c > 0$  such that

$$(5) \quad \liminf_{u \rightarrow \infty} \frac{f(t, u, u)}{\phi(u)} \geq Kf(t, c, c)$$

for some positive constant  $K$  and all  $t \geq T$ .

**THEOREM 2.** *Assume that Assumptions (3) and condition (A) hold. Furthermore, assume  $g'(t) \geq 0$ . Then inequality (2) is oscillatory if*

$$(6) \quad \int_1^{\infty} g(t)f(t, \alpha, \alpha)dt = +\infty$$

for all  $\alpha > 0$ . In addition, if

$$(7) \quad \liminf_{t \rightarrow \infty} \frac{g(t)}{t} \geq a > 0 \text{ for some } a > 0,$$

then (6) is also necessary.

**Proof.** That (6) is a sufficient condition will follow from Lemma 1 if we show that inequality (4) has no positive solution  $u(t)$  in  $[t_0, \infty)$  for any  $t_0 \geq 0$ . Suppose to the contrary that a solution  $u(t) > 0$  of

(4) exists and  $t_0 > 0$  can be chosen such that  $u(t)$  and  $u(g(t)) > 0$  on  $[t_0, \infty)$ . Since  $t \geq t_0$  implies that  $u''(t) \leq 0$ , a standard argument shows that  $u'(t) > 0$  for sufficiently large  $t$ , say  $t \geq t_1 \geq t_0$ . We can assume that  $\lim_{t \rightarrow \infty} u(t) = \infty$  since otherwise multiplication of (4) by  $t$  and integration by parts over  $[t_1, t]$  would lead to

$$tu'(t) - t_1u'(t_1) \leq - \int_{t_1}^t sf(s, u(g(s)), u(g(s)))ds + u(t) - u(t_1)$$

for all  $t \geq t_1$ , and consequently  $u'(t) < 0$  for sufficiently large  $t$  on account of hypothesis (6).

Define

$$V(t) = \frac{g(t)u'(t)}{\phi(u(g(t)))}, \quad t \geq t_1.$$

Then

$$(8) \quad V'(t) \leq - \frac{g(t)f(t, u(g(t)), u(g(t)))}{\phi(u(g(t)))} + \frac{g'(t)u'(t)}{\phi(u(g(t)))} - \frac{g(t)u'(t)u'(g(t))g'(t)\phi'(u(g(t)))}{(\phi(u(g(t))))^2}.$$

Condition (A), Assumptions (3), and inequality (8) imply that there exists a  $T > 0$  and a  $c > 0$  such that

$$V'(t) \leq -Kg(t)f(t, c, c) + \frac{g'(t)u'(g(t))}{\phi(u(g(t)))}$$

for  $t \geq T$ . Integration over  $[T, t]$  yields

$$(9) \quad V(t) - V(T) \leq -K \int_T^t g(s)f(s, c, c)ds + \int_{u(g(T))}^{u(g(t))} \frac{du}{(u)}.$$

It follows from (9) that  $V(t) < 0$  for sufficiently large  $t$  on account of (6), and consequently  $u'(t)$  is eventually negative. This contradiction proves the sufficiency part of Theorem 2.

Conversely, if (7) holds and (6) does not hold for some  $\alpha > 0$ , then the equation

$$(10) \quad u''(t) + f(t, u(t), u(g(t))) = 0$$

has a bounded nonoscillatory solution by Theorem 3.2 of [4]. But a nonoscillatory solution of (10) is obviously a solution of the inequality (2).

REMARK. The requirement that  $g'(t) \geq 0$  in Theorem 2 can be replaced by the less restrictive requirement that there exists a function  $h(t) \in C'[0, \infty)$ ,  $0 < h(t) \leq g(t)$ ,  $h'(t) \geq 0$ , and  $\lim_{t \rightarrow \infty} h(t) = \infty$ . In this case, Theorem 2 is valid with  $h(t)$  replacing  $g(t)$  in hypothesis (6).

As a simple corollary of Theorem 2, we obtain oscillation criteria for the inequality  $uL_1u \leq 0$ , where  $L_1$  is defined by:

$$(11) \quad L_1u = u''(t) + p(t)(u(g(t)))^\gamma,$$

where  $p(t) \geq 0$ ,  $g'(t) \geq 0$  on  $[T, \infty)$ , and  $\gamma > 1$  is the quotient of odd integers.

COROLLARY 3. All solutions of  $uL_1u \leq 0$  are oscillatory if

$$(12) \quad \int_1^\infty g(t)p(t)dt = \infty.$$

The converse is true if condition (7) holds.

REMARK. Corollary 3 improves and extends previous results by Gollwitzer [5] and Erbe [4] for the equation  $L_1u = 0$  in case  $g'(t) \geq 0$ , as the following example shows.

EXAMPLE. Let  $p(t) = t^{-3/2}$  and  $g(t) = t^{1/2}$ . Condition (12) holds and the inequality  $uL_1u \leq 0$  is oscillatory by Corollary 3. For this example condition (3.13) of [4] does not hold since

$$\int_1^\infty t^{1-\gamma}p(t)(g(t))^\gamma dt = \int_1^\infty t^{-((\gamma+1)/2)} dt < \infty \text{ for all } \gamma > 1.$$

The next theorem is an analogue of Theorem 2 when condition (A) is not satisfied. Condition (A) is replaced by the following condition:

$f(t, u, v)$  is said to satisfy condition (B) if there exists a  $c > 0$  and a number  $\gamma \geq 1$  such that

$$(13) \quad \liminf_{u \rightarrow \infty} \frac{f(t, u, u)}{u^\gamma} \geq Kf(t, c, c)$$

for some constant  $K > 0$  and for all  $t \geq T$ .

This holds, for example, if

$$f(t, u, u) = u^\gamma (\log(|u|+1))^\beta, \quad \gamma \geq 1, \quad \beta \geq 0,$$

as well as in the linear ( $\gamma = 1, \beta = 0$ ) and superlinear ( $\gamma \geq 1, \beta = 0$ ) cases.

**THEOREM 4.** *Assume that Assumptions (3) and condition (B) hold. Furthermore, assume  $g'(t) \geq 0$ . Then inequality (2) is oscillatory in  $[0, \infty)$  if*

$$(14) \quad \int_1^\infty (g(t))^\lambda f(t, \alpha, \alpha) dt = \infty$$

for all  $\alpha > 0$  and for some  $0 \leq \lambda < 1$ .

*Proof.* Proceeding exactly as in the proof of Theorem 2 we find that  $u'(t) > 0$ ,  $u''(t) \leq 0$  for  $t \geq t_1$ , and

$$\frac{u(t)}{u'(t)} - \frac{u(t_1)}{u'(t_1)} = \int_{t_1}^t \frac{(u'(t))^2 - u(t)u''(t)}{(u'(t))^2} dt \geq t - t_1.$$

Hence there exists a number  $t_2 \geq t_1$  such that

$$(15) \quad \frac{u'(g(t))}{u(g(t))} \leq \frac{2}{g(t)} \quad \text{for all } t \geq t_2.$$

Choose  $\gamma \geq 1$  and  $c > 0$  such that (13) is satisfied for  $t \geq T \geq t_2$ , and let  $0 \leq \lambda < 1$ . Define

$$v(t) = \frac{(g(t))^\lambda u'(t)}{u^\gamma(g(t))}, \quad t \geq T.$$

Then

$$(16) \quad v'(t) \leq - \frac{(g(t))^\lambda f(t, u(g(t)), u(g(t)))}{u^\gamma(g(t))} + \frac{\lambda (g(t))^{\lambda-1} g'(t) u'(g(t))}{u^\gamma(g(t))}, \quad t \geq T.$$

However, according to (13) and (15) we have

$$V'(t) \leq -K(g(t))^\lambda f(t, c, c) + \frac{2\lambda(g(t))^{\lambda-2}g'(t)}{u^{\gamma-1}(g(t))}$$

for some constant  $K > 0$  and all  $t \geq T$ .

Using (16) and the positivity of  $u'$  we then obtain

$$V'(t) \leq -K(g(t))^\lambda f(t, c, c) + K_1 g'(t)(g(t))^{\lambda-2},$$

where  $K_1 = 2\lambda u(g(T))^{1-\gamma}$ . Integrating over  $(T, t)$  we obtain

$$V(t) - V(T) \leq -K \int_T^t (g(s))^\lambda f(s, c, c) ds + K_1 \int_{g(T)}^{g(t)} s^{\lambda-2} ds.$$

As in the proof of Theorem 2, we arrive at the contradiction  $u'(t) < 0$  for sufficiently large  $t$ .

The above result generalizes a result by Wong [11] where the special case  $u'' + a(t)u(g(t)) = 0$ ,  $a(t) \geq 0$ , and  $ct \leq g(t) \leq t$  for some constant  $c > 0$  was considered.

**COROLLARY 5.** *The differential inequality*

$$u[u'' + p(t)u^\gamma(g(t))] \leq 0,$$

where  $p(t) \in C[0, \infty)$  is nonnegative,  $\gamma \geq 0$  is the quotient of odd integers, and  $g'(t) \geq 0$ , is oscillatory in  $[0, \infty)$  if

$$\int_1^\infty (g(t))^\lambda p(t) dt = \infty$$

for some  $0 \leq \lambda < 1$ . Furthermore, if  $\gamma > 1$ ,  $\lambda$  can be taken to be 1.

The above corollary improves previous results by Erbe [4] in case  $g'(t) \geq 0$ .

We now give analogues of Theorems 2 and 4 when  $g(t)$  is not necessarily differentiable. Conditions (A) and (B) are replaced by the following conditions.

**Condition A<sub>1</sub>.** There exists  $\phi(u) \in C^1[0, \infty)$  satisfying:

(a)  $\phi(u) > 0$  if  $u > 0$ ,  $\phi'(u) \geq 0$  for all  $u \geq 0$ , and

$$\int_1^\infty \frac{du}{\phi(u)} < \infty ;$$

(b) there exists a  $c > 0$  and  $0 < \alpha < 1$  such that

$$\liminf_{|u| \rightarrow \infty} \frac{f\left(t, |u|, \alpha \frac{g(t)}{t} |u|\right)}{\phi(|u|)} \geq Kf\left(t, c, \alpha \frac{g(t)}{t} c\right)$$

for some positive constant  $K$  and all  $t \geq T$ .

**Condition B<sub>1</sub>.** There exists a  $c > 0$ ,  $0 < \alpha < 1$ , and a number  $\gamma \geq 1$  such that

$$\liminf_{|u| \rightarrow \infty} \frac{f\left(t, |u|, \alpha \frac{g(t)}{t} |u|\right)}{|u|^\gamma} \geq Kf\left(t, c, \alpha \frac{g(t)}{t} c\right)$$

for some constant  $K > 0$  and for all  $t \geq T$ .

**THEOREM 6.** Assume that Assumptions (3) and condition A<sub>1</sub> hold. Then inequality (2) is oscillatory in  $[0, \infty)$  if

$$(17) \quad \int_1^\infty tf\left(t, \alpha, \alpha \frac{g(t)}{t}\right) dt = \infty$$

for all  $\alpha > 0$ . In addition, if (7) holds then (17) is also necessary.

*Proof.* To prove the if part, assume to the contrary that  $u(t)$  is a nonoscillatory solution of (2). Using the same argument as in Lemma 1, we can assume that  $u(t)$  is a positive solution of the inequality

$$(18) \quad u'' + f(t, u(t), u(g(t))) \leq 0$$

in  $[t_0, \infty)$  for some  $t_0 \geq 0$ . Obviously we can assume that  $u(g(t)) > 0$  for  $t \geq t_0$ . Since  $t \geq t_0$  implies  $u''(t) \leq 0$ , a standard argument shows that  $u'(t) > 0$  for sufficiently large  $t$ , say  $t \geq t_1 \geq t_0$ .

Since  $u(t) > 0$ ,  $u'(t) > 0$ ,  $u''(t) \leq 0$  on  $[t_1, \infty)$ , Lemma 2.1 of [4] implies that for each  $0 < k < 1$  there is a  $T_k \geq t_1$  such that

$$(19) \quad u(g(t)) \geq ku(t) \frac{g(t)}{t}, \quad t \geq T_k.$$

From (18) and the assumptions (3) we then have that  $u(t)$  satisfies



$$(20) \quad u'' + f\left(t, u(t), k \frac{g(t)}{t} u(t)\right) \leq 0, \quad t \geq T_k.$$

We can assume that  $\lim_{t \rightarrow \infty} u(t) = \infty$  since otherwise multiplication of (20) by

$t$  and integration by parts over  $[T_k, t]$  would lead to

$$\begin{aligned} tu'(t) - T_k u'(T_k) &\leq - \int_{T_k}^t sf\left(s, u(s), k \frac{g(s)}{s} u(s)\right) ds + u(t) - u(T_k) \\ &\leq - \int_{T_k}^t sf\left(s, u(T_k), k \frac{g(s)}{s} u(T_k)\right) ds + u(t) - u(T_k) \end{aligned}$$

for all  $t \geq T_k$ , and consequently  $u'(t) < 0$  for sufficiently large  $t$  on account of hypothesis (17).

Choose  $0 < \alpha < 1$  and  $c > 0$  such that condition  $A_1$  holds. Choose  $T_\alpha$  sufficiently large such that (19) holds and

$$(21) \quad f\left(t, u(t), \alpha \frac{g(t)}{t} u(t)\right) \geq K\phi(u(t))f\left(t, c, \alpha \frac{g(t)}{t} c\right)$$

for some  $K > 0$  and for all  $t \geq T_\alpha \geq t_1$ . Define

$$V(t) = \frac{tu'(t)}{\phi(u(t))}, \quad t \geq T_\alpha.$$

Using (19) and (21) we then obtain

$$(22) \quad V'(t) \leq -Kf\left(t, c, \alpha \frac{g(t)}{t} c\right) + \frac{u'(t)}{\phi(u(t))} - \frac{(u'(t))^2 \phi'(u)}{(\phi(u))^2}.$$

Integration over  $[T_\alpha, t]$  yields

$$V(t) - V(T_\alpha) \leq -K \int_{T_\alpha}^t sf\left(s, c, \alpha \frac{g(s)}{s} c\right) ds + \int_{u(T_\alpha)}^{u(t)} \frac{du}{\phi(u)}.$$

It follows from condition  $A_1$  and the hypothesis (17) that  $V(t) < 0$  for sufficiently large  $t$ , and consequently  $u'(t)$  is eventually negative. This contradiction proves the sufficiency part of Theorem 6.

Conversely, if (7) holds and (17) does not hold for some  $\alpha > 0$ , then by Assumption (3) (a) the condition

$$\int_1^{\infty} tf(t, \alpha, \alpha) dt < \infty$$

must hold for some  $\alpha > 0$ . Then equation (10) has a bounded nonoscillatory solution by Theorem 3.2 of [4] which is obviously a solution of (3).

Theorem 6 extends results by Gollwitzer [5], Erbe [4], and Wong [11] to differential inequalities.

The proof of the following analogue of Theorem 4 is similar to the above proof and will be omitted.

**THEOREM 7.** *Assume that assumptions (3) and condition  $B_1$  hold. Then inequality (2) is oscillatory in  $[0, \infty)$  if*

$$(23) \quad \int_1^{\infty} t^{\lambda} f\left(t, \alpha, \alpha \frac{g(t)}{t}\right) dt = \infty$$

for all  $\alpha > 0$  and for some  $0 \leq \lambda < 1$ .

REMARKS. It is a very simple matter to write analogues of Theorems 2-6 when the operator  $L$  is replaced by the more general operator

$$Lu = u'' + \sum_{i=1}^n f_i(t, u(t), u(g_i(t)))$$

with  $f_i$  and  $g_i$ ,  $i = 1, 2, \dots, n$ , satisfying assumptions (3).

### References

- [1] Štefan Belohorec, "Oscillatory solutions of certain nonlinear differential equations of second order" (Czech), *Mat.-Fyz. Časopis Sloven. Akad. Vied.* 11 (1961), 250-255.
- [2] John S. Bradley, "Oscillation theorems for a second-order delay equation", *J. Differential Equations* 8 (1970), 397-403.
- [3] L.E. El'sgol'ts, *Introduction to the theory of differential equations with deviating arguments* (translated by Robert J. McLaughlin. Holden-Day, San Francisco, California; London; Amsterdam; 1966).

- [4] Lynn Erbe, "Oscillation criteria for second order nonlinear delay equations", *Canad. Math. Bull.* 16 (1973), 49-56.
- [5] H.E. Gollwitzer, "On nonlinear oscillations for a second order delay equation", *J. Math. Anal. Appl.* 26 (1969), 385-389.
- [6] G. Ladas, "Oscillation and asymptotic behavior of solutions of differential equations with retarded argument", *J. Differential Equations* 10 (1971), 281-290.
- [7] James C. Lillo, "Oscillatory solutions of the equation  $y'(x) = m(x)y(x-n(x))$ ", *J. Differential Equations* 6 (1969), 1-35.
- [8] С.Б. Норкин, Дифференциальные уравнения второго порядка с запаздывающим аргументом (Izdat. "Nauka", Moscow, 1965).  
S.B. Norkin, *Differential equations of the second order with retarded argument. Some problems of the theory of vibrations of systems with retardation* (Translations of Mathematical Monographs, 31. Amer. Math. Soc., Providence, Rhode Island, 1972).
- [9] V.A. Staïkos, "Oscillatory property of certain delay differential equations", *Bull. Soc. Math. Grèce* 11 (1970), 1-5.
- [10] Paul Waltman, "A note on an oscillation criterion for an equation with a functional argument", *Canad. Math. Bull.* 11 (1968), 593-595.
- [11] James S.W. Wong, "Second order oscillation with retarded arguments", *Ordinary differential equations*, 581-596 (Proc. Conf. Ordinary Differential Equations, Washington, 1971. Academic Press, New York and London, 1972).

School of Mathematics,  
University of New South Wales,  
Kensington,  
New South Wales.